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Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.
Define Cost Accounting.
DL &geillane samadlicd euerwum.
Name the elements of Cost.
SiL&selme s pisamar QUM (s,
What is Cost Centre?
é\il;ésazeﬁéncu GOLOWILD GTETDITE) GTEITE?
What is Prime Coét?
(PSETEHLD Qefevm GTGUTLIG) WITE]?
Calculate Works Cost :
Factory expenses Rs. 700
Ofﬂcé expenses R;%. 300
Material consumed Rs. 3,400
Selling expensés Rs. 900.
Qsmfipsreame oi_sssHmar sansd(s.
Qgmflherane Qeaeyser ep. 700
Diieues Gewe sar ep. 300
epeL@ur@ger AFawayger . 3,400

efpuener Geewaysar ep. 900.
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10.

11.

12.

13.

14.

State any two causes for disagreement in profits between cost
and financial accounts.
SILés efeowa sansdiue Gaoruwd Hdflao sasdud Geomuapt

Caimupeusparer sryarhisate gCFHeiDd @) TarTiq e samis,

. What is Inventory Control?

Fr&EmULY sL_HuUr@ eTemmmed erevmen?

What is Base Stock method of Pri’éing Material Issue? ’
Qgliuen Qmiy weapule sréE Qeuafluif aﬁ]cmcbuﬂ@g,eb GTEDITED
cTeTen ?' ‘

What do you mean by Direct Labour?
Crirg 2 enpliy eramge Quimmer wimg)?
What is meant by Idle Time?

efewmrmen CByLd eremLigen QILIT(haT WiTg)?
Define Overheads. .

Cuh@saeyser auamrum.

‘What is Apportionment of Overheads?

CuopClsae 56T @gIs8 (15 erampme erabme? .
PART B — (5 x 5 ='25 marks)
Answer ‘any FIVE questions.

What are the limitationé of Cost Accounting?

<QlLsseilme samsHlweden GmpUTHaeT wTaeu?

Ascertain the Factory Overheads from the folloWiné R

Rs.

Office stationery 5,000
Factory lighting - 16,000 ! |
Works Manager’s. salary 22,000 \ ;
Iridirect Materials : 9,000
Audit fees 13,000
Foreman’s salary 13,000
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Guogtd 9emeumid eNUTEISET ST HETeTS).

X Y Z A
@ oiara t(natt) . 1,500 1,100 . 900 500
gail Laratlgar 75. .11 .9 5
Qsmflereriser craimanéama 200 150 100 50
Blinos el 60,000 40,000 30,000 20,000
Quimd iy (¢m.) 2,40,000 1,80,000 1,20,000 60,000
srsfmiy wdiy () 1,50,000 90,000 60,000 -

Qe semer LGN g;]_@&)g)&;@é;@j Hseyd 25685 gl udléd
9RSsellE@b wpsare gienp WlsselsEn <idlémelamar swrfss.
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15.

Gereumdy  euriiseflal®mbs  Qamfpsree  Gupllsaseysamer
SaTEH () 5.

€.
SQICUDE 6T(LpFELIMmHET Qeavay 5,000
QamPharens Llem aflerd @ 10,000
Qzmpnarena Goqment EL.bL!GTL'D 22,000
WEDAPS FFERMWHLIL: 9,000
gamflSeana ast%o’ub i 13,000
Guogvdfl sbLiamd ' 13,000

The profit as per cost accounts was Rs. 1,50,300. Calculate the
-amount of profit as per financial accounts on the basis of the
following information : ‘

(a) Works overheads were over-recovered in cost accounts by
Rs. 8,000 ‘

(b) Administrative expenses were qver-recovered in financial
accounts by Rs. 3,000. ' '

(¢) Depreciation charges were over-recorded in cost accounts
by Rs. 1,900.

(d) Int;zrest on investments amounted to Rs. 940
(¢) Bad deBts: written off Rs. 650.

L oLEs o sansdud 4ssssHeatug  @eomubd . 1,50,300
Wemeumd efupmsaiallmhg Hlaa seamédlwelariig. Qorusden

sersSl (5. . ’

(=) SiLsseloe samsdwadle sam@sors SCasiul L Qzmflparamea
Cup@gweysar . 8,000

(<) B8 Peave sansdwedier Gmpeours 8L sl L Bifeurs Qsawaae
. 3,000

(@) <iLsseiame samsdweie am@Hsons LSILB;VIL!LIL':_L_:@‘QSU‘JLDWGNU)
5. 1,900

(F) s WBsrer eulig ep. 940

" (2) GureQssliuL L auFrésLan 5. 650.
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16.

17.

From the following information, Calculate Economic Order

Quantity :

Semi-Annual Consumption 6,000 units
Purchase price of input unit Rs. 25
Quarterly carrying é_ost 3% |

Ordering cost per order Rs. 45

S &S (H&. '
é{%@g@ﬁéﬁmqﬁ)anm w6y 6000. @ GsH6T
2 drefil (b é{%\)éﬂdﬂ Qsrarpse eflane ep. 25
srenemy Herer erdss Qedib Qe 3%

RH ApenaTdsTen QETeTApSe (h: 45

Wemaupd efupiisefambs), Hésen Qa;rrdT@g,ei) Qyenent ojereilene

Compute the various stock levels from the following data :

Maximum consumption in a month
Minimum usége in a month
Average usage in a month

Reorder period

Normal reorder period

. Reorder quantity

1Gesmeu(mLd aﬁ]uuréjéserﬂeﬁl@.r_'r@ v Geuy

. saES([Hs.

R wissHbsnar SifsLs BisTa

L @® wrssdbanar GmpboULs Bisiey

@R wrssHnaren Fyrsfl BisTey >

LD BYEDET STLD

@UJG'I)LIITGUT LD <B,EOEWTE STELD 4 rFBIET
DM DT {66 750 DADGSHET
4 62442/CPC5C/CPG5B/

300 units
200 units
225 units
2.to 6 months

4 months

750 units

gr&dlmpuy  Haasmar

300 eioEsdr
200 s @ser
225 s@Gsdr

2 to 6 s

CPM5B/CPZ5A/MAT5B

Following further details are available:

X 2 Y| Z A

Floor Space in (Sq.ft) 1,500 1,100 900 500

Light Points : 75 11 9 5
Number of Employees 200 150 100 50
Total wages (Rs.) 60,000 40,000 30,000 20,000

Value of plant (Rs.) 2,40,000 1,80,000 1,20,000 60,000
Value of stock (Rs.) 1,50,000 90,000 60,000

Apportion the cost to various departments on the most equitable
basis by preparing a primary departmental distribution
summary. '

sCaev SQALL X, Y, Z flw epenn 2 DUSH gieppaemarniyd wHmib
A Gsoeusgiampeowiynd Qsram@erarg. sigan Hgw O mHE

Qetreu(mLd eNuprigeT QuUpLILILLE)

elluphiser ‘ .
GUITL_6D& LOHOILD ais 10,000
Qurrd) L LT 6,000
Qumrh Ggiomenid . 4,500
gafl eflara@ QFweser 1,000
Cupumriensu Gaemeyser ' 15,000
8 5nuSL® (8756 Bgl) 5,000
Wenas S 9,000

Qzmfled sorggieuflen 8;rr|;||5L® Qumgiy -~ 1,500
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23.

24.

From the following particulars supplied by the personnel
Department of a company, Calculate labour turnover by

applying:

(a) Separation method
(b) Replacement method
(¢) Flux method

Total number of employees at the beginning 2010
Total number of employees at the end 1,990
Number of employees resigned ‘ 30
Number of employees discharged ’ 50
Number of employees replaced 40

@@ sbuaflller uvaflumart gep YGeaeumbd eSurkismer
Qar@sgieterg. uamflwmert IO eissdower  SpEHIAL
apaaficr samad(Hs. :

(@) Gflged ofs ey
(<) wmpHlwLiEss® 6l WD
(®) sevameu aﬁg, pem

S rbLSHed @QmES Crss Lewtwmarisefier eremeanilEams 2010
Qmiflude @mbs Qorss Lamflurarraefier cremment&me 1,990
vanflullelmpg eflevdlw Lienflwrerisefier eramrenilsEama . 30
vafllladlmbg eNBellsaiiu L ueastwrerisefier Graiurmﬂé;ma‘; - B0
wrHPwLTES Swigsul L uaflwurariseaier oramanfsms 40

Kamalesh Ltd. has three production departménts X, Y and Z and
one service department A. The following figures are extracted
from the records of the company.

Particulars Rs:
Rent and rates 10,000
Repairs to plant 6,000
Depreciation of plant 4,500
Lighting expenses 1,000
Supervisory expenses 15,000
Fire Insurances (On stock) 5,000
Power 9,000
Employer’s liability for insurance 1,500
8 62442/CPC5C/CPG5B/
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18.

-19.

Calculate the earnings of workers A and B under Taylor’s

differential piece rate system from the following particulars.
Normal rate per hour Rs. 18

Standard time per unit 20 seconds '

Differential to be applied :

80% of piece rate below standard

120% of piece rate at or above standard

Worker A produces 1,400 units per day and worker B produces
1,500 units per day of 8 hours.

@mm@m uriiseflealmbs O wefear wrmul L oG Hfs Sl

popiug A, B 9du Qoanmss foisss smigu sdlaw

sansS (DS,

@uidumen Cryésmed g wenflss, op. 18

S Cryb e é{@)@é;@ 20 elflamiq seir

Caupuil L e @ 6555 el :

SDe GH@DHBeUTHEHESE UG 635 saadluiler 80%
9iFs e 2 cTeTeuNHEHES é{&)@ aiss amadluled 120%
8 wanfl Cpybd QsreviL. @ prefar 2 pusdl A - 1400 eEs6T
B - 1500 oi@w@ser

Calculate the Machine Hour Rate for Machine A :

Cost of Machine Rs. 19,200

Estimated scrap value Rs. 1,200

Repair charges per month Rs. 150

Standing charges allocation to‘machine per month Rs. 50
Effective working life of machine 10,000 hours

Running time per month 166 hours

Power used by machine = 5 units per hour at 19 Paise per unit
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20.

@uprd Aer QuipSy wefl aissms sarsdlaub.
Quipdysden 2iLssellane ep. 19,200
@fran‘rgauu@m s1flay QU AL ¢ 1,200
R LTS LWL QFwa) ep. 150

R LIGSH @u.n{r_r;gﬁ]ugélg)@ @gjasae;@ Qe L ;5]66)61) Qem)eqa;sn
¢h. 50

@uipdrsdlen <g;bu_u"_'@.l;rra) CGeuanad Qb smed 10000 wenfl Cryd
G5 ISGHD @u_l(rb'fé]i;ub @u.uréj@Lb BSITGl)Lb‘ 166 :chvﬂ G
Quipdind psie) Qsws e 558 : |
@@ waflés 5 a@@éeﬁ =
@(H @16\)@5@ 19 apuigm eligid.

PART C'— (3 % 10 = 30 marks)

Answer any THREE questions.

Bring out the distinction between cost aCcounting and financial
accouﬂting. ' i
éll_éié;i @Eﬂma)‘ sansAusGD HHfloo sasdugEEnd 2 ear
Gaugium_enL Qeuafl&QasTaie. | |

Ascertain the cost and selling price from the following :
Materials consumed Rs. 6,000

Wages paid Rs. 9,000

Works on cost 50% on wages

Office on cost 20% on works cost

Seiling on cost 10% on' works cost

Profit 20% on cost.
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1Yl 66w (LD @S]uursja;aﬂeﬁ]@gﬁg,] e;u_a;a; aflenew LD;D@JLD aﬂmumm eSlenaveniw

: a;mra;aﬂ@a;

(l,osouG]urr@srrasm m&rey ep. 6,000

Fn0 QeausHwig em. 9,000

Qsmfiberenss Glop@saeser el 50%

S DIeUDE ClFe 6 seT Qgﬁ@ﬁ)&nm@ SIL&ESSD 20%
eflpLienen CSLDQ')Q'&GDmanT Qg,rrgﬁ]’rj)‘av‘rrmev Qeewalleb 10%
@;DWULb Awrss 2L sasdd 20%. |
The following particulars have been extracted in respect of

material X. Prepare stores ledger account under Simple Average
Method and Weighted Average Method.

October 15t Balance 100 units at Rs. 6 per unit
Receipts -
5th October purchasedLGOO units at Rs. 7.00 per unit

16t October purchased 500 units at Rs. 8 per unit

Issues

6t October issued 460 units
15tk October issued " 200 units
25tk October issued 400 units
27th October issued ‘ B 200 units

26 gpolturpd X sbupsulL  Gateumbd  plolgsmased
QaTBEsLLLReratar: gl (. syrafl eflave wHmd Hepud L spred
LRI S (yamg)u_‘ﬂa) srs8 UL CuGTL @ samsEaan ;_r,u_lrrrr Clsws.

2&GLmu 1 cﬂ,qsm@j @@Ly 100 é{@)@&;@ ¢5. 6 aisb
QuugeseT:

&GLTUT 5 : 600 Si@se . 7 isb Qararupsd QFlsg
21&GLTuT 16 : 500 Siev@ser e, 8 sﬁgLiS Qarearapgd QFiigsg)

@Jgﬂ@g,eba;df o ¢

SSCLTUT 6 : euPEIBD SjaTay 400 él@l)@&dT

21&CLTLT 15 : auprised Bjemey 200 e @ser
2A&EGLITLIT 25 : aupraise iemey 400 iev@aer
2HCLTUT 27 : auprised Semey 200 e @s6r
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